

$$f_{\text{C}_2} = \frac{1}{2} \left( \frac{1}{\tau_{\text{C}_2}} + \frac{1}{\tau_{\text{C}_1}} \right)$$

$$f_{\text{C}_1} = \frac{1}{2} \left( \frac{1}{\tau_{\text{C}_2}} + \frac{1}{\tau_{\text{C}_1}} \right)$$

$$f_{\text{C}_1} = \frac{1}{2} \left( \frac{1}{\tau_{\text{C}_2}} + \frac{1}{\tau_{\text{C}_1}} \right)$$

$$f_{\text{C}_1} = \frac{1}{2} \left( \frac{1}{\tau_{\text{C}_2}} + \frac{1}{\tau_{\text{C}_1}} \right)$$

$$f_{\text{C}_2} = \frac{1}{2} \left( \frac{1}{\tau_{\text{C}_2}} + \frac{1}{\tau_{\text{C}_1}} \right)$$